Attempt all 50 questions, each question carries 02 marks. There is no negative marking. Please mark the
correct answer as A/B/C/D at appropriate place, on the right hand side of the question, in blue or black ink.

1. Which of the following statement is correct?

(A) Education is an art (B) Education is a science
(C) It is neither an art nor a science (D) To some extent it is an art and some extent it is a science
[
1 futufy[kr e I dkullk dFtu Igh g \
Ivi iflk ,d dyk g A Ich fk{k ,d foKku g A
1% ;g9 u rk dyk g ugh foKku g A int dN Ihek rd dyk ,0 dN Ihek rd foKku g
[
2. Which of the following education system supports scientific progress?
(A) Realistic Education (B) ldealistic Education
(C) Naturalistic Education (D) None of these
[
2- fuku e 1 dkullh if@;k ik fH)Krk dk oKkfud ixfr nrk g\
ivh S FRFcokni £7k{kk Iich vkn’k oknh £k{kk
1% INfr oknh f7k{kk int bue 1 dkb ugh
[
3. Why is curriculum activity used in teaching?
(A) Make teaching easy (B) To make teaching interesting easy to understand & effective
(C) To make teaching attractive (D) To assist the teacher
[
3- xfriof/k vilkijr 1kB;@e dk f’k{lke D;k dke e yk;k trk g \
Ivi ik dk By cuku e Ich ik dk Ie>u e 1jy =fpdj ,0 iHko™ kkyh cuku e
I fk{k dk vkd’kd cuku e Ink "k{kd dk Bg;kx dju e
[
4. Which of the following is the contribution of Rousseau to education?
(A) Education for freedom (B) Education for democracy
(C) Education for state control (D) Education for nationalism
[
4- fuku fyf[kr e 1 k{lke = Ik dk diulk ;kxnku g \
Ivi Lorl=rk d fy, fk{kk i 1ekrl= d fy, ik
I gkt fusU=k d fy, fk{k It Jk'vhs rk d fy; £k
[
5. The important characteristics of Philosophy are.....
(A) Philosophical Method (B) Philosophical attitude
(C) Philosophical conclusions (D) All of these
[
5 nk’kfud d egroi.k y{k.k g &
ivh ni’kfud fof/k fct nk’kfud vitkofr
i nk’kfud fu'd’k It majkUk IHkh
[
6. Which of the first school for a children education?
(A) Society (B) Friends
(C) Family (D) School
[
6- cPpk dh f*k{kk dh iFke 1kB kkyk dkullh g \
v ekt Ich fe=
1% ifjokj int Ldy
[



7. Which of the statement is correct for social change subject !
(A) Social change is compulsory (B) Social change is not compulsory
(C) Social change is my will (D) None of the statement is correct

7- lkekfed ifjoru d fo'k; e dkullk dfu Igh g \
Ivi Tkekfed ifjoru vfuok; g A ich Nkekfed ifjoru viuok; ugh g A
ich Nkekftd ifjoru bPNkullkj gkrk g A int bue dkb dFku Igh ugh g A

8. Changes in social structure are known as -

(A) Cultural change (B) Social change
(C) Physical change (D) None of these
8- lkelfed <p e ifjoru dk dgx\
ivi ILNfrd ifjoru A ich Nkekftd ifjoruA
i1 Hafrd 1fjoruA int bue 1 dkb ugh A
9. How is social change?
(A) Essential (B) Equal type of all places
(C) Non essential (D) Compulsory
9 leifed ifjoru dl \
vh vko”;d A Ich BHA LFkkuk 1y Beku =k 1 A
il% vuko’ ;d A Ink vfuok; A
10. Who among the following is not follower of Pragmatic Philosophy?
(A) William James (B) Pesh Talozzi
(C) John Dewy (D) Kil Patric
10- fuku e 1 dikBk ;FkF oknh n’ku dk BeFku ugh g \
Ivi fofy;Ek €El Ich TLVkykt
i1 tku Mkoh Ink fdy ifvd

11. What is education?
(A) Only teacher gives the education (B) Education is a book
(C) Education is knowledge & experience (D) Education is a thing

11 kDK g
I £k{kk doy f’k{kd nrk g A Ich ik ,d iLrd g A
1% Pi{kKku  rfAk vutko g A il Kk ,d olRk g A

12. Educational sociology deals with which aspect of education?

(A) Social (B) Political
(C) Economic (D) Psychological
12- “ki{kd Mkeke’il= 'k d fdl 1gy 1 BEcU/k jLkrk g \
v Bkekftd Ich jkufrd
il vikirkd it eukoKkfud
13. Education provided to the child by the schools is -
(A) Formal (B) Informal
(C) Highly standardized (D) Traditional



13- foJky; gk nh tku okyh cPPk dk f’kkkg &

IVt vkipkjd Ich vukipkfjd
{i1% mPPkdkVh i It kjifjd
[
14. “Educational sociology is the study of interaction of the individual and his culture environment” this
was stated by.
(A) Brown (B) Carter
(C) Otto way (D) Skinner
N [
14- “kfrd lekt'L= 0;f& rFk DLNfrd okrkoj.k d chp gku okyh vUrt f@;k dk v/;;u g b fuku cr;k g
Ivi ckmu fich dkvj
i1 ERVAYN) it Ldhuj
[
15. Which of the following is an example of an aggregate?
(A) Arotary club gathering (B) Individuals of meeting
(C) Tax payer’s meeting (D) Airlines passengers
[
15 futu e dkullk mnkgj.k 1.k ;kx dk g \ \
Ivi Jkvjh Dyc leg ich 0;fUkxr xk'Bh
1% djnkrk xk'By nt s ykoll d k=t
[
16. Work of educational philosophy is -
(A) Normative (B) Critical
(C) Speculative (D) All of these
[
16 f’k{kn’ku dk dk;
Ivi vikn’iRed Ich vkykpuired
I afjdyin; int 1 HHA
[
17. In the following which is not the type of naturalism -
(A) Physical naturalism (B) Psychological naturalism
(C) Mechanical naturalism (D) Biological naturalism
[
17- futu e I dkulk iNfrokn dk Lozlk g \ 3
ivh Hifrd INfrokn ict eukoKkfud 1Nfrokn
% ;U=oknh ENfrokn Ink thooKkfud 1Nfrokn
[
18. Match the list A to B.
List A List B
(A) Sankhya 1) Swami Mahaveer
(B) Vedanta 2) Gautam Buddha
(C) Buddhism 3) Kapil
(D) Jainism 4) Shankracharya
5) Kanad
(a) (b) (©) (d)
a 1 5 3 2
b 4 1 2 5
c 3 4 2 1
d 5 2 1 3
[



18 fyLV 8, dk fyLV Rctb 1 &M

fyLV (,p fyLV Rctb ehyku

fah [k 1- Lokeh egkohj (@) (b) () (d)

bk onklr 2- xkre ¢) vk 1 5 3

ich ck) 3 dfiy ik 4 1 2

int €u 4- “%djkpk; b 3 4 2
5- dUkm it 5 2 1

19. The function and structure of nervous system includes.
(A) A.N.S only (B) P.N.S & AN.S
(C) CN.S&P.N.S (D) Only P.N.S

19-  ri=dk r=d dk; ,0 <kp dk lek;k€r djrk g &
Ivi doy AN.S Ick P.N.S o A.N.S
i1y C.N.So P.N.S int doy P.N.S

20. Which of the following is the function of N.C.E.R.T -

(A) Frame of text books (B) Subject choose
(C) School organization (D) Establishing schools
20- N.C.E.R.T futu fyf[kr e I dkullk dk; djri g \
v 1kB;aLrdk dk fuek.k Ich fo'k; furkky.k
i1y fo]ky; IxBu Ink foJky sk dk LFkkiuk
21. The best education which is helpful in making individual.
(A) Self dependent (B) Money earner
(C) Intelligence (D) Reputation
21- mke fk{i0;falk dk D3k cuku e Bokikd Bgk;d g \
Ivi viRe futkj ich vRkIktu
1% fo)ku iy ifrf'Br

22. Out of a boy and girl who develops more in first two years?

(A) Boy (B) Girl

(C) BothA & B (D) Unknown
22- yMd o yMdh e 1 fdldk fodkl iFke nk o'% e vi/kd gkrk g \

vt ckyd ich ckiydk

% nkuk 1 0 2 Ink Kkr ugh

23. The main processes of socialization are -

(A)4 (B)6
(C) 8 (D) 3
23 Nlekfedrk dh e[; ifd;k &
Wi 4 ich 6
T i 3

W = o1



24. Who was the father of experimental psychology?

(A) Watson (B) Freud
(C) Wudent (D) Hall
24- 1k;kixd eukfoKku d tud dku g \ )
Ivi ckvillu ich YM
% M Ik gky
25 .The formula for calculating 1Q is -
—— x 100 2 200
(A) LA (B) CA
CA CA
— =+ 100 — <+ 200
(C) M4 (D) x4
25 1Q fudkyu dk I=g &
M4 MA
wi T <100 o ca <20
wy 77A T L00 ik A 200
26. Boys score in intelligence test as compare to girls
(A) Lower (B) Higher
(C) Similar (D) Cannot say
26- yMdk dk ikirkd ch)erk d i;kx e yMid;k dh vi{lk &&&&& ghxk
vt de ich vikd
i1% cjkej fnt dgk ugh € Idrk
27. Development of group intelligence test is from
(A) Second world war (B) From first world war
(C) Before first world war (D) None of these
27- lefgd cf) ijnfk.k dk fodkl &&&&&GVk Fk
vk f}rh; fo’o ;) e Ich 1Fke fo™’0 ;) 1
i1h iFe fo’o ;) 1 igy int bue 1 dkb ugh

28. What type of correlation exist between intelligence and creativity?
(A) Positive (B) Negative
(C) Zero (D) All of these

28- cf) ,0 ItuRed e fdl idkj dk Ig BEcU/k ik;k tkrk g \
ivh fuiked fict fu'k/kked
I W; In mi; DUk DHb

29. According to most of the psychologist development of intelligence is.....
(A) Up to 12 years (B) Up to 16 years
(C) Up to 40 years (D) Whole age



29- vilkdi’k eukoKkfudk d vulkj cf) dk fodkll gkrk g &

Ivh 12 o' rd ick 16 o' rd
% 40 o'% rd In% thou 1Rk
30. MCI has
(A) 25 items (B) 15 items
(C) 150 items (D) 355 items
30 MCI e
v 25 vikbVe ich 15 vkbve
1% 150 vibve int 355 wkbVe
31. What problems come in the field of Education Research?
(A) Educational (B) Sociological
(C) Philosophical (D) Psychological
31 “frd vul/iku d {k= e dkullh Bel;k, virt g \
vl “kfrd Iick ekt “kL=h;
1% nk’kfud it euk oKkfud
32. What type of data will be collected in a study on student achievement?
(A) Qualitative (B) Quantitative
(C) Both of them (D) None of them
32- “kfrd miyfthk d v/;;u e nlk & Bkexh dk idkj Dk gixk \
Ivi X.Kked Ich ek=kred
1% nkuk v o fich int bue 1 dkb ugh
33. Which type of correlation are used in Educational Research
(A) Coefficient co - relation (B) Partial correlation
(C) Multiple cumulative correlations (D) All of these

33- 1g Meclk d idkj &k “kfrd vul/lu e dke e vir g &
Ivh dkfQf*k; IV vkQ dkfjy’ku Ich 1kk;y difjy’ku
i1 efYViky D;eyVho dikfjy *ku It 5 HHN

34. Median is also known as

(a) 5™ Point (b) 50" Percentile
(c) 2" Quartile (d) 5" Deciles
(A)ach (B)bca
(C)bcd (D)cda

34 efMh;u tkuk tkrk g
bah 5™ WbV dck 50™ i 1Wkby tc 2™ Dokjviby 4 d 15" M Ikby

Iviach lc)bca
ilhbcd Intcda



35. The person who has defined Educational Research is -

(A) Jone Best
(C) George Mouly

(B) W.M.Travels
(D) None of these

35 og 0;0r felu “f{d vul/Kku dk ifjtk’kr fd;k og g

V4 EhuchLV
I Tt ey

fch MC; ,e VkoYl
int bue 1 dkb ugh

36. Give the following series the value of mode is 5, 6, 3, 2, 8, 4,4, 9, 10, 11, 12, 13

(A) 13
©)9

36- futu Ijit e eiM dk eY; g &
5]6]3]218]414]19]10]11]12]13
vk 13
1 ERY

(B) 12
(D) None of these

Ich 12
int bue 1 dkb ugh

37. Which of the following is a descriptive research?

(A) Survey
(C) Interview

37- futufyf[kr e 1 dkullk o.kfed vul/ku g \
OV [o
1% bUVj0;

38. Work of Educational Philosophy is -
(A) Normative
(C) Speculative

38 P’k lkn’ku dk dk; &
Ivb vkn’kRed
I afjdivi;

39. Weakest point of idealistic education is -
(A) Aims
(C) Methods of teaching

39- vkn’koknh f7k{kkdk Bcl detj fcln g &
Vb m)”;
il fk{.k dh foffk;k

40. The founder of Pragmatism was.....
(A) John Dewey
(C) Kilpatric

(B) Questimarire
(D) All of these

Ick 17 ukoyh
It mi; DRk DHh

(B) Critical
(D) All above

Ich vkykpuired
fnt mi;Dr IHd

(B) Curriculum
(D) Discipline

lch 1kB;de
Int vu’kkTu

(B) Willam James
(D) Charles Sandraus



40- i;k€tuokn d ILRkid &

Inv% Eku M;oh Ich fofy ;e tEl

i1y fdyifvd it pkYl BUMj I
41. Which is the compulsory element of learning?

(A) Ability to read (B) Bright mind

(C) Tendency to know (D) None of these
41- vffixe d vko’;d rfo&

v 1<u dh {kerk Ich rt efLr'd

1% thkuu dh cofr int bue 1 dkb ugh

42. Who is the writer of History of human marrice book

(A) Taylor (B) Wester Mark
(C) Margan (D) Kapdia

42- “History of human marrice book” dk y[kd dku g A
Ivi VK yj ich oLVj ekd
1% ekxu It kM ;k

43. Number of joint family in modern age of India is -
(A) Increasing (B) Decreasing
(C) Neither decreasing nor increasing (D) Normal

43- vilifud ;x e Hijrh; 1;Dr ifjokk db 1[;k g &
Ivh c< jgh gA ich de gk jogh g A
I u rk c< joh g ukgh AV joh g A it Dkekl;

44. Who is the writer of “Modernizing effects of University Education”?

(A) Shyam Lal Sharma (B) M.N. Shriniwas
(C) S.C. Dave (D) A.R. Desai

44- “Modernizing effects of University Education” d y[kd dku g \
Ivi " ske yky ek Ich ,e- ,u- Jh fuokl
iy L1 Ik no Ink,- vkj- nlkb

45. If the father and mother both are fair in color of any child, the child will be -
(A) Fair (B) Black
(C) Any (D) All above

45- vxj fdlIh cPp d firk o ekrk dk jx xkjk g rk cPpk gixk &
v xkk fich dkyk
i1 dikb He fnt mi; & DHa

46. Which rating scale is easy make !
(A) Thurstan (B) Likart Scale
(C)Aand B (D) None of these



46- dkullk jivx Ldy vklku g \
IV FkBVu ekiuh Icl
% v rik c In

yhdkV ekiun
bue 1 dkb ugh

= ==

47. How many sources decided by good, bar and scat for education research?

(A) Four (B) Five
(C) Six (D) Seven
47- xM ckj rrk bdV u “kf{kd vull/kuk d fdru L=kr eku g \
IVt pkj Ich 1kp
i1 Ng it Tkr
48. You give me any child | can make him as | like. Who told it?
(A) Hutingtion (B) Watson
(C) Fancis Galton (D) Macdugal
48 re e> dkb ckyd nk e ml dN Hb cuk Bdrk g A ;g nkok fdldk g A
Ivi gfvxVu ich okVlu
i1 Qkuf Il xkYVu Ink edM; xy
49. Formal means of Education is -
(A) School (B) Library
(C) Community (D) All above
49- Kl dk vkipkfjd Bkhku dkullk g &
Ivi Ldy Ich iLlrdky;
i1 Denk; Int mi; & BHh

50. The right knowledge according to Shankra is known as -
(A) Vidya (B) Adhyasa
(C) Avidya (D) Maya

50- “kdjkpk; Jkjk Boh Kku thuk tkrk g &
Ivh fo |k heh wifk;klk
I vio]k It ek;k



